Small Difference Questions

1. Tom buys a sandwich, a bag of
crisps and a drink. He pays £3.
How much change does he get?

2. Joy wants a sandwich, a bag of
crisps and 2 drinks. She has £3.
How much more money does she need?

Sandwiches: £1.80
Crisps: 35p
Drinks: 50p

3. Amy buys a sandwich, a bag of crisps and 2 drinks.
She pays £4. How much change does she get?

4. Kam buys a sandwich, a bag of crisps and 2 drinks.
He pays £10. How much change does he get?

Extend: write one more question for each sequence.

Read the Pictures Sandwiches: £1.80
Which bar model represents Fruit: 30p
the question? Drinks: 50p

Zard buys two sandwiches and a drink. She pays with a
£5 note. How much change does she get?

Bar Model A: Bar Model B:

£5 £5 PN

£1.80 | £1.80 [50p[*5™ £1.80 £1.80 |50p|




